Response to the presentation of cultivated areas of the tomato crop in Iraq for the period (2015-198)

Hajer Bader Ahmed^{*}Majid Abed Hamza^{*}

Dept. of Agricultural Economics - College of Agriculture -University of Anbar Corresponding Author: Hajer Bader Ahmed

Abstract: The tomato crop is one of the main vegetable crops in Iraq and the most consumed, as it enters most of the cooked, fresh and canned foods. It is one of the most important vegetable crops economically and its nutritional and economic importance. It is grown in two winter seasons by covered agriculture, The study aimed at estimating the response of the presentation of cultivated areas with tomato yield using the joint integration tests and the error correction model (VECM), The results indicated that the most important factors influencing the response to the presentation of the cultivated areas of the tomato crop are the area planted with the crop for the previous year, the previous year's crop price, the average summer vegetable price for the previous year, irrigation water, the Productive risk and the price risk) using the logarithmic formula, The results indicated a significant error correction at (5%) and a negative sign that is consistent with the economic (0.233185) indicates that the cultivated area of the crop takes about (4.3) Years in the direction of their equilibrium value after the impact of the shock in the model due to the change in explanatory variables, The study showed that the growth rates for area, production and productivity were positive(0.7, 2.1, 1.4) respectively.

Date of Submission: 28-09-2018	Date of acceptance: 15-10-2018

I. Introduction

Tomato is one of the most important crops of summer vegetables and is ranked first among vegetables as a crop used in the manufacturing process. Tamata is also one of the important vegetables on the table. It is eaten as a salad in fresh condition. It is also included in the preservative industry and is used in the manufacture of sauces, Tamata in Iraq for the first time in (1916) and four varieties and give agricultural income ranging between (30-25) million dinars annually(5), The area cultivated with tomatoes in the world about (1.2) million hectares and the average production of about (33.6) million tons per year and there are more than (700) varieties of tomatoes in the world are characterized by each leg, leaves, shape and size of fruits and color(2), Although the tomato crop is an important food crop and is a major food for the population, the agricultural sector in the developing countries, including Iraq, suffers from the low cultivated areas and the fluctuation in the production of most agricultural crops, including tomatoes, which result in only a small part of the growing demand resulting from Population growth, The research aims at a set of objectives, which can be summarized by studying the status of tomato production and studying the growth rates during the study period and estimating the response of the width of cultivated areas with the tomato yield for the period 1980-2015 at the country level due to price changes and other important factors As well as estimating the elasticity of the supply of short and long-term self and short-term prices, Although the tomato crop is an important crop, the studies related to the response to the presentation of the cultivated areas with the tomato crop are few, Al-Qahtani and Subhi (1999) indicated that the response of the tomato producers in Saudi Arabia's protected houses is related to the production costs and prices and their ratio to yield, which affects the elasticity of the response and shows a decrease in the elasticity of the view of the protected tomato from (0.688) (1496) rivals to (0.407) at a farm price of (4000) rivals. In addition, the researchers evaluated the response to the changes in prices during the period (2013 - 1994) in Syria, and the use of the modified Nirvov model, The results showed that the changes in the area of each of the studied crops are due to the changes in the prices of the studied crops and the prices of the competing crops and the area planted with the crops studied for the previous year.

II. Materials and Methods

Data on the subject were obtained from the Ministry of Agriculture, the Ministry of Planning, FAO and the Agricultural Statistics Yearbook. Eviews.10 was used to analyze the data for the Tomato Crop Response Survey and used the Joint Integration Method and the VECM.

III. Results And Discussion

The function of the response of the width of cultivated areas of the tomato yield to the variables used in the model was described in logarithmic form during the study period (2015-1980) as follows:

 $lny = b_0 + b_1 lnx_1 + b_2 lnx_2 + b_3 lnx_3 + b_4 lnx_4 + b_5 lnx_5 + b_6 lnx_6 + u_i$

The test of stability of the variables by testing the function of self-correlation and partial and graph of the variables as well as the test of the Doki Fuller and Phelps Peron test and confirmed all these tests that the variables are unstable and contain a root unit at the original level and became stable after taking the first difference and the following table shows the results Phelps Peron test for variables at level and first difference.

Shows (1) test of stability of the variables of tomato crops the results Phelps Peron test

		UNIT ROOT	TEST TABL	E (PP)				
At Level								
	LNV	13400	1102	LNDCD	13404	1340.5	13405	
Prob.								
Prob					0.0853	0.0005		
1-Statistic		0.1778			-0 5227	-0.6347		
350775	nū	nū	n0 .	n0	n0	n0	-	
At First D	therease							
A CONTRACT	d(LNY)	0(LNX1)	d3_N2(2)	d(LNX3)	d(LNX4)	01.10(5)	tb(LN0/5)	
1-Statistic	-5.6933	-6.6078	-4.8895	-3,2896	-18.7005	-14.9979	-8.0458	
Prob.	0.0000	0.0000	0.0004	0.0233	0.0001	0.0000	0.0090	
	410	100			410	304	499	
1-Statute	-8.3056	-7.4391	-4,9153	-5.2998	-21.4810	-14,7889	-11.6672	
Prot.	0.0000	0.0600	0.0019	0.0851	0.0000	0.0000	0.0090	
Prot	0.0000	0,0000	0.0001	0.0111	0.0000	0.0000	0.0000	
	1.Staladic Prob. 1.Staladic Prob. 1.Staladic Prob. 1.Staladic Prob. 1.Staladic Prob.	LN/ 1.Statuto: 1.2070 Prob. 6.6796 10 1.Statuto: 0.3629 Prob. 0.362	M.Lessi UNV UNV 1-Statuch: 1.2370 2.2316 Prob. 6.61960 10 1-Statuch: 1.0175 4.0987 Prob. 0.8877 6.0916 Prob. 0.3529 0.1778 Prob. 0.56467 0.7778 Prob. 0.5467 10 ALLinst.Difference 0.1877 10 ALLinst.Difference 0.1570 10 Prob. 0.01171 0.15011 Statistic 5.5333 4.6000 Prob. 0.00167 7.4391 Prob. 0.0060 7.4391 Prob. 0.0060 1.53000	M.Lesi UW UW UW UW 1-Statude -1.2379 2.2386 -1.0125 Prob. 8.6196 6.1986 0.7386 0 10 10 10 Prob. 8.6196 6.1986 0.7382 Prob. 6.8977 6.0945 0.68827 0 0 0 0 1-Statusc 0.3029 0.1778 0.3097 Prob. 8.5487 6.7394 8.7804 Prob. 8.5487 0.1778 0.3097 AtElini,Differenze 0.1001 0.1002 1.0012 Histopies 5.0333 6.0784 0.0004 Prob. 8.0000 8.0000 4.0004 Prob. 6.00000 6.0004 0.0004 Histopies 6.3056 -7.4381 -4.9153 Prob. 6.0000 6.0004 .0004 .0004 Histopie 6.7050 -7.4243	LINY LUCI UNC UNC 1.5tatable 1.2970 2.2366 -1.0125 -0.6024 Prob. 0.6796 0.7390 0.4060 1.5tatable 0.1875 -1.0962 -1.1943 -1.3842 Prob. 0.8797 0.9465 0.48652 0.48652 Prob. 0.1875 -1.0962 -1.1943 -1.3842 Prob. 0.89877 0.9465 0.48652 0.48652 1.5tatable -0.3629 0.1778 0.3507 10301 Prub. 0.5467 0.7378 0.3507 10301 Prub. 0.5467 0.7378 0.3507 10301 Prub. 0.5467 0.7378 0.4866 -2.2886 0.LNY) 0.LNK11 0.LNK12 0.LNK3 1.5tatable -0.3056 -0.6078 -4.8866 -2.2886 Prub. 0.4000 0.6000 0.0004 0.6233 	M.Lesi UW UW <th< td=""><td>MLessi Linit Unit <thunit< th=""> Unit Unit <</thunit<></td><td>MLesi UNV UNV1 UNV1 UNV2 UNV3 <th< td=""></th<></td></th<>	MLessi Linit Unit Unit <thunit< th=""> Unit Unit <</thunit<>	MLesi UNV UNV1 UNV1 UNV2 UNV3 UNV3 <th< td=""></th<>

(%10) * , (%5) ** , (%1) ***

When the Johansen test was conducted, it turns out that there are two approaches to co-integration, that is, there is a long-term equilibrium relationship. Therefore, these variables should have the VECM model. Using the 10.Eviews program, we obtained the long-term equation, We can write it after turning the signals because the equation in the VECM analysis takes the implicit form and when it returns to normal the signal volatility(3) LNY=15.16905 + 0.666316LNX2(-1) - 1.098687LNX3(-1) +2.140315LNX4(-1) +0.104900LNX5(-1) +0.495682LNX6(-1) t-statistics (2.22224) (-3.91474) (2.11384) (3.68846) (12.1499)

Shows (2) VECM short and long-term is variables (lny, lnx2, lnx3, lnx4, lnx5, lnx6)

Vector Error Correction Estimates Date: 07/12/18 Time: 15:33 Sample (adjusted): 1983 2015 Included observations: 33 after adjustments Standard errors in () & t-statistics in []				
Cointegrating Eq:	CointEq1			
LNY(-1)	1.000000			
LNX2(-1)	-0.666316 (0.29984) [-2.22224]			
LNX3(-1)	1.098687 (0.28065) [3.91474]			
LNX4(-1)	-2.140315 (1.01252) [-2.11384]			
LNX5(-1)	-0.104900 (0.02844) [-3.68846]			
LNX6(-1)	-0.495682 (0.04080) [-12.1499]			
с	-15.16905			

Error Consultan	DOUM	D(0.943(2))	10(LNR3)	(38LN04)	0(L1015)	DHLMM8)
CointEut	-0.223185	0.044170	-0.105520	0.169947	-0.400523	2 048909
	(0.09967)	(0.24666)	(0.21342)	(0.17145)	(1.30375)	(1.11580)
	[-2.23050]	(0.170145	(-0.72672)	[.0.99125]	[-0.30721]	[1.83718]
Da.Wy-to	-0.395851	0.536080	0.206242	0.343903	3 074007	(1.572584
	(8.24334)	(0.60197)	(0.52107)	(0.41855)	(3 18310)	(2.72424)
	[-1.62874]	[0.09553]	(0.39574)	[.0.92158]	[0.96572]	(0.57725]
D01MA(-50	-0.148827	0.651147	0.092525	-0.484710	0.114000	1.832671
	(2.29714)	(0.73507)	(0.03629)	(0.51014)	(3.88690)	(3.32658)
	2-0.50119)	[1.15394]	[0.14541]	(-0.84828)	(0.02933)	(0.55092)
D(LF021-1))	-0.371029	-1.236778	-0.632898	0.424582	-2.447969	-2.113884
	30.30106)	(0.74480)	(0.84471)	(0.51792)	(3.93833)	(2.37090)
	(-1.23500)	[-1.06060]	(-0.98168)	[.0.82000]	[-0.62158]	[-0.92384]
D(LED2(-2))	-0.160559	-0.254225	-0.135379	-0.006579	-2 259518	-0.634279
	(0.19520)	(0.48289)	(0.41799)	10.336781	(2.55342)	12.185330
	(-3.82252)	(-0.52549)	[-0.32388]	-0.01999	(-0.88490)	-0.28997]
D0,000(-1)	0.218243	1.336171	0 976338	-0.007144	1,794345	6,204366
	(0.20106)	(9.49736)	(0.43053)	(0.34505)	(2,629971	(2,25084)
	(1.00542)	(2.68650)	(2.25894)	(-0.15414)	[0,68227]	(2,31218)
DILMIN 21	0.047710	0.249550	-0.030936	0.884432	0.694476	0.515400
	(0.15770)	(0.41402)	(0.35922)	(0.28957)	(2.19448)	(1.87805)
	(0.29440)	(0.00130)	[-0.08612]	[0.28258]	[.9.40762]	(0.27591)
D(L904(-1))	0.036058	-0.186351	-0.022803	-0.209844	0.352677	-0.767603
	(0.12513)	(0.30955)	(0.25795)	(0.24525)	(1.63588)	(1.40099)
	(0.76762)	(-0.09200)	(-0.08524)	(-0.97995)	[0.21509]	[-0.54784]
00.4646-20	0.145665	-0 174047	-0.308213	-0.608131	0.438628	1.101070
	(0.11420)	(0.28271)	(0.24472)	(0.19029)	(1.48491)	(1.27941)
	(1.27691)	(-0.91594)	(-1.25947)	(-2.57691)	(-8.28408)	(-0.90132)
Dilb0:56-10	0.007492 (0.01938) (0.01938) (0.01938)	-0.050513 (0.04547) (-1.28697)	-0.029698 (9.03936) (-0.72939)	-0.041295 (0.03102) (1.306(71)	-0 799307 (8 24041) [-3 03384]	-0.565814 (0.98674) 1-2.726810
DiLNRS(-2))	0.029474	-0.006380	5.029677	0.005362	5.023900	-0.173815
	(3.02329)	(0.08782)	(5.039677	(0.040093	(5.35407)	(6.26078)
	(1.05078)	(-0.11073)	(9.595050	(0.75303)	(0.07012)	(-0.66691)
19(L7008(-7))	-0.013233	5.156881	8.027988	-0.034823	-0.088047	0.082833
	(0.026725	(5.06811)	10.057230	(5.048975	12:349580	(2.25016)
	(-0.49516)	[2.04024]	0.46025]	(-0.75315)	(-0.15091)	(2.95001)
04,448-20	-0.021189	-0.014682	-0.023044	0.015455	0.019554	0.013294
	(0.02707)	(0.06695)	19.059550	(0.04795)	(5.354600	(0.31204)
	[-0.76021]	[-0.21283]	[-2.36026]	[0.34392]	(-0.05363)	(-0.04201)
G	0.059067 (0.06080) (0.06080) (0.06080)	0.103417 (0.16545) [0.07562]	5.154562 (0.14222) [1.368622]	-8 117178 til: 115061 [-1:01882]	0.440225 (0.07407) (0.65316)	-6.623101 (0.74075) (-0.03016)
equared q. R-equared orn so reside E equators etailate og Method taitet og Method og Method og Method og Method og og Method og og og og og og og og og og	D 400300 5 158 199 5 86 1817 9 100635 1 462211 17 87854 40 222912 0 411970 -0 518299 5,203055	D 479400 0 122340 4 050020 0 401002 1.346340 12 27164 1 560570 2 223450 0 267800 0 485104	D 470557 D 156306 3 054930 D 300547 1 290940 7 448123 1 299947 1 334929 3 200826 D 423222	0.529577 0.219026 1.358312 0.321044 1.63072a 0.061937 1.460910 0.060903 0.360267	0.484400 0.131420 1132422 2.441355 1.373046 87.18882 4.810383 5.554265 0.077188 2.610825	0.059515 0.443366 82.969400 0.960905 42.03297 4.000040 5.242237 0.272946 2.300500
eterminant resid covari eterminant resid covari og ittelitood kaine information criteri chwarz ortenion	ance	3.886-05 1.295.06 -67.24300 6.923455 13.00524				

We then estimate the short-term equation by using the OLS method and the VECM results as in Table (3)

. ,					
	Coefficient	Std. Error	t-Statistic	Prob.	
C(1)	-0.233185	0.099668 -2.339603		0.0304	
C(2)	-0.395851	0.243341	-1.626736	0.1203	
C(3)	-0.148927	0.297145	-0.501194	0.6220	
C(4)	-0.371829	0.301076	-1.234998	0.2319	
C(5)	-0.160559	0.195203	-0.822524	0.4210	
C(6)	0.218243	0.201055	1.085489	0.2913	
C(7)	0.047710	0.167757	0.284400	0.7792	
C(8)	0.096056	0.125134	0.767621	0.4521	
C(9)	0.145665	0.114282	1.274609	0.2178	
C(10)	0.007492	0.018379	0.407650	0.6881	
C(11)	0.024474	0.023291	1.050778	0.3065	
C(12)	-0.013233	0.026724	-0.495160	0.6262	
C(13)	-0.021189	0.027873	-0.760208	0.4565	
C(14)	0.059067	0.066882	0.883155	0.3882	
R-squared	0.498399	Mean dependent var		-0.018299	
Adjusted R-squared	0.155199	S.D. dependent var		0.203056	
S.E. of regression	0.186635	Akaike info criterion		-0.222912	
Sum squared resid	0.661817	Schwarz criterion		0.411970	
Log likelihood	17.67804	Hannan-Quinn criter.		-0.009293	
F-statistic	1.452211	Durbin-Wats	on stat	1.634394	
Prob(F-statistic)	0.223659				

 Table Shows (3) test VECM variables (lny , lnx2 , lnx3 , lnx4 , lnx5 , lnx6)

Table (3) shows the significance of error correction at 5% and negative signal. This is in line with the economic theory and indicates a long-term equilibrium relationship in the model. The value of the error correction coefficient (0.233185) indicates that the area planted with the asphalt is adjusted to its equilibrium value A period of time approximately (23.31%) When the cultivated areas of the tomato crop deviate during the short term in (t-1) from their long-term equilibrium value, the equivalent of (23.31%) of the deviation in the current period (t)This indicates that the cultivated area of the crop takes about (4.3) years towards the equilibrium value after the impact of the shock in the model due to the change in explanatory variables , The results also showed that the price coefficient of the tomato crop, which represents the long-term price elasticity, is a positive sign and is consistent with the economic logic,While the negative and moral significance of the previous year's competitive crop price (-1.09868) reflects the competitive nature of the two crops. If the prices of the competing crops increase by 10%, the area planted with the tomato crop will decrease by 10.9% , As for

the elasticity of drainage of irrigation water, it came with a positive and moral signal (2.140315), indicating the relation between irrigation water and cultivated areas with a certain level of water. The signal of both production risk and price risk is positive and this is contrary to economic logic , (4) showed that the statistical value of F was (0.577329) at (0.5720) and x^2 (2.098840) at a probability level (0.3501) Therefore we will accept the null hypothesis that there is no problem of self-correlation as in Table (4)

Table (4) correlation LM test

Breusch-Godfrey Serial Correlation LM Test:

F-statistic	0.577329	Prob. F(2,17)	0.5720
Obs*R-squared	2.098840	Prob. Chi-Square(2)	0.3501

The results revealed that the model was free from the problem of heterogeneity of variance using the Breusch-Pagan-Godfrey test. The multiple linear correlation problem was detected by using the VIF. If its value is greater than 10, 10 This indicates that there is no linear correlation problem. (6) It has been shown that there is no linear multiplication problem because the VIF value is equal to 1.96 and is less than 10 depending on the following law

 $VIF = 1/(1-R^2)$

$$VIF = \frac{1}{(1 - 0.49)} = \frac{196}{1}$$

The natural distribution of the Jarque-Bera booths was tested, indicating that the residues are distributed naturally because the probability value is greater than (5%) as shown in Figure (1).



Figure (1) histogram – normality test

IV. Conclusions

- 1- There is an impact of the prices of crops competing for the crop of tomato and its impact was clear in the cultivated areas in the long term and this is consistent with the logic of economic theory.
- 2- It was clear through the study of the results of the unit root test that all the variables involved in the model were unstable at the original level and became stable after taking the first difference to them, as the ordinary methods of analysis of the false regression because it will not achieve the stability of variables and treatment of unstable. In order to avoid this, time series is analyzed using a common integration approach and error correction.
- 3- The value of the error correction coefficient (0.233185) indicates that the area cultivated by the tomato takes about 4.3 years towards the equilibrium value after the impact of the shock in the model due to the change in the explanatory variables.

V. Recommendations

- 1- Setting previous price policies to protect producers from fluctuating prices in order to increase cultivated areas and thus increase the production of the tomato crop.
- 2- For the purpose of increasing agricultural production, we must go to other aspects other than prices such as the manufacture of sauce, paste, pickles and others and thus work to encourage investment in the industrial field of agricultural crops.

3- the need to provide agricultural statistics for a long time series at the same pace and the same methodology and a degree of detail of the agricultural sector at the level of the provinces of the country, in terms of prices, areas, productivity and production.

Sources

- [1]. Gujarati ,Damodar N. , 2004 , Basic Econometrics, 4th edition , The McGraw-Hill Companies.
- Al-Qahtani, Safar and Subhi Ismail, 1999, Response of Protected Tomato Producers to Changing Market Conditions in the Riyadh Region, Saudi Arabia, MA Thesis, Department of Agricultural Economics, Faculty of Agriculture, King Saud University, Riyadh.
 Gujarati ,Damodar N., 2004, Basic Econometrics, 4th edition, The McGraw-Hill Companies.
- [4]. Mohammedi, FadelMusleh and Meshaal, Abdul JabbarJassim (1991) vegetable production, the Ministry of Higher Education and Scientific Research, Baghdad University College of Agriculture Baghdad.
- [5]. Rifai, Ahmed Hassan and Fayez JadallahMiqdad, 2016, Estimation of the response presentation of the most important vegetable crops in Syria, the Syrian Journal of Agricultural Research, No. 2, Volume 3.
- [6]. Saleh, Muhammad Mahdi, 2016, Economic study to estimate the response and price fluctuations of maize corn in Iraq for the period (1980-2014), Master Thesis, Faculty of Agriculture, University of Baghdad. Unpublished .
- [7]. shukr, Ali Salah, 2015, economic analysis to ensure the cost, profit and technical efficiency of the crop in the province of Diyala, University of Baghdad - Faculty of Agriculture - Department of Agricultural Economics, Journal of Agricultural Sciences of Iraq 46 (4).

Hajer Bader Ahmed. "Response to the presentation of cultivated areas of the tomato crop in Iraq for the period (2015-198)." IOSR Journal of Agriculture and Veterinary Science (IOSR-JAVS) 11.10 (2018): 18-22.